

Read & Accept

MODE OF PAYMENT	80sq.yds	Special Schedule		
BOOKING	65,000			
CONFIRMATION	65,000			
ALLOCATION	65,000			10%
START OF WORK	65,000			
MONTHLY INSTALLMENT	48 x 10,000/- (480,000)		☐ WEST OPEN☐ PARK FACING	10% 10%
HALF YEARLY INSTALLMENT	8 x 30,000/- (240,000)		☐ MAIN BOULEVARD	10%
DEMARCATION	150,000			
POSSESSION	150,000			
TOTAL	12,80,000/-			

- Corner, West Open, Park Facing & Boulevard Facing Charges are not included in the above mentioned Payment Plan.
- Development, Documention Charges for Lease. Loan and Connection Charges for Gas, Electricity, Water and Sewerage will be charged extra & when demanded by the Company, as these charges are not included in the above mentioned cost.
- All extra charges will be payable within 180 days from the Date of Booking.
- All installments must be deposited by 10th of each month.
- The terms & conditions given above are the essence of this Payment scheduled and buyer undertakes to abide by the same.

Name:	C.N.I.C #:		Signature
Contact No:	Address:		
Plot No:	_ Plot Size:	_ Total Cost:	



Read & Accept

MODE OF PAYMENT	120sq.yds	Special Schedule		
BOOKING	120,000/-			
CONFIRMATION	120,000/-			
ALLOCATION	120,000/-		CORNER	10%
START OF WORK	120,000/-		_	
MONTHLY INSTALLMENT	48 x 20,000/- (960,000)		☐ WEST OPEN☐ PARK FACING	10% 10%
HALF YEARLY INSTALLMENT	8 x 50,000/- (400,000)		☐ MAIN BOULEVARD	10%
DEMARCATION	280,000			
POSSESSION	280,000			
TOTAL	2,400,000/-			

- Corner, West Open, Park Facing & Boulevard Facing Charges are not included in the above mentioned Payment Plan.
- Development, Documention Charges for Lease. Loan and Connection Charges for Gas, Electricity, Water and Sewerage will be charged extra & when demanded by the Company, as these charges are not included in the above mentioned cost.
- All extra charges will be payable within 180 days from the Date of Booking.
- All installments must be deposited by 10th of each month.
- The terms & conditions given above are the essence of this Payment scheduled and buyer undertakes to abide by the same.

Name:	C.N.I.C #:		Signature
Contact No:	Address:		
Plot No:	_ Plot Size:	_ Total Cost:	



MODE OF PAYMENT	120sq.yds	Special Schedule		
BOOKING	90,000/-			
CONFIRMATION	90,000/-			
ALLOCATION	90,000/-			10%
START OF WORK	90,000/-			
MONTHLY INSTALLMENT	48 x 15,000/- (720,000)		☐ WEST OPEN☐ PARK FACING	10% 10%
HALF YEARLY INSTALLMENT	8 x 35,000/- (280,000)		☐ MAIN BOULEVARD	10%
DEMARCATION	220,000			
POSSESSION	220,000			
TOTAL	1,800,000/-			

- Corner, West Open, Park Facing & Boulevard Facing Charges are not included in the above mentioned Payment Plan.
- Development, Documention Charges for Lease. Loan and Connection Charges for Gas, Electricity, Water and Sewerage will be charged extra & when demanded by the Company, as these charges are not included in the above mentioned cost.
- All extra charges will be payable within 180 days from the Date of Booking.
- All installments must be deposited by 10th of each month.
- The terms & conditions given above are the essence of this Payment scheduled and buyer undertakes to abide by the same.

Name:	C.N.I.C	: #:	Signature
Contact No:	Addres	ss:	
Plot No:	_ Plot Size:	Total Cost:	



Read & Accept

MODE OF PAYMENT	200sq.yds	Special Schedule		
BOOKING	200,000/-			
CONFIRMATION	200,000/-			
ALLOCATION	200,000/-			100/
START OF WORK	200,000/-			10%
MONTHLY INSTALLMENT	48 x 35,000/- (1,680,000)		☐ WEST OPEN☐ PARK FACING	10% 10%
HALF YEARLY INSTALLMENT	8 x 130,000/- (1,040,000)		☐ MAIN BOULEVARD	10%
DEMARCATION	240,000			
POSSESSION	240,000			
TOTAL	4,000,000/-			

- Corner, West Open, Park Facing & Boulevard Facing Charges are not included in the above mentioned Payment Plan.
- Development, Documention Charges for Lease. Loan and Connection Charges for Gas, Electricity, Water and Sewerage will be charged extra & when demanded by the Company, as these charges are not included in the above mentioned cost.
- All extra charges will be payable within 180 days from the Date of Booking.
- All installments must be deposited by 10th of each month.
- The terms & conditions given above are the essence of this Payment scheduled and buyer undertakes to abide by the same.

Name:	C.N.I.C #:		Signature
Contact No:	Address:		
Plot No:	_ Plot Size:	_ Total Cost:	